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Ho Max. Marks: 75

Note: i) Questign paper consists of Part A, Part B.

6.2)

b)

i) PartfA is compulsory, which carries 25 marks. In Part A, Answer all questions.
iii) In , AAnswer any one question from each unit. Each question carries 10 marks
and may Jdfav s sub questions.
PART - A
(25 Marks)
What is detailed estimate. 0‘& [2]
What is Plinth area metho imate? [3]
What is the purpose of bar bendin [2]
Find the volume of earth work i t of length 10m. Top width is 5.0m and
depth is 2.0m the side slopes are 1%2 [3]

What is rate analysis?

[2]
Explain how the rate analysis of labour aal considered. [3]
Distinguish between detailed and generalSpegif &s. [2]

What is Depreciation and Escalation?

[3]
What is critical path? [2]
Explain the following:
i) Optimistic time @
i) pessimistic time /
iii) Most likely time estimate. 0 [3]
PART -B

(3(50 Marks)

Compare the rough estimate and detailed estimate, when will they be used?

S o
Discuss in detail about the center line method of estimate. QD

Discuss about the detailed specifications for earth work excavations, filling and backfill&
[10]
OR
What is meant by Bar Bending Schedule and discuss about the general principles to be
followed and advantages of bar bending schedule to estimate the quantity of steel. [10]

Discuss rates of a particular item of work. What are the factor that affect rates of as
particular item?

Prepare a rate analysis for the following items

i) 12mm thick plaster 1:6 cement mortar

i) First class brick work in super structure 1:3 lime cement mortar. [5+5]
OR



7. Calculate the Quantity of Cement required in bags for the following items.
Calculate the quantity of Cement required in bags for the following items of work.
(/ a) C.C. (1:4:8) usy 40mm HBG metals for 30m? of work
b) RR masanry in CM(1:5) very 0.34m? of CM for 1m? of masanry for 20m of work.[5+5]

rit detailed specifications for plastering and brick work of building. [10]

OR
9. at he details of a contract document must contain, discuss in detail. [10]
10.  What t elements present in PERT network and explain with an example.[10]
OR
11. Discuss about event, activity and rules for drawing network diagrams. [10]
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JAWAHARLAL NEHRU TECHNOLOGICAL UNIVERSITY HYDERABAD
B. Tech IV Year | Semester Examinations, January/February - 2023
ESTIMATION, QUANTITY SURVEYING AND VALUATION
(Civil Engineering)
Time: 3 Hours Max. Marks: 75
Note: i) Question paper consists of Part A, Part B.
) Part A is compulsory, which carries 25 marks. In Part A, Answer all questions.
i)' In Part B, Answer any one question from each unit. Each question carries 10 marks
may have a, b as sub questions.

PART - A
(25 Marks)
l.a)  Define eStim actual cost. [2]
b)  Enlist any poses of estimation and costing. [3]
c) Define lead a [2]
d) What is the volu f fullyexcavated trapezoidal cross section of canal? [3]
e) Compare overhead cost contingent charges. [2]
f)  What is piece work agréemen [3]

g) What is the unit weight 0 iameter of bar? [2]
h)  What are different types reinfor bars used in beam and draw the sketches?  [3]
i)  What is the Depreciation? [2]

) Why is valuation done? @ [3]
/.

0 (50 Marks)
2. Calculate the quantities of the following items e building shown in figure 1, below using

long wall and short wall method: (a) Earth work in -~ . (b) Brick work in foundation and
plinth. (c) PCC (1: 5: 10) below the foundation. (d) Dz course. (e) Brick masonry in CM

(1:6) for super structure. [10]
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OR
Work out the quantities for the foI@ items for figure shown below figure 2.
a) Earth work excavation.

b) Cement concrete in foundation.

c) Brick work.
d) 2.5 cm CC (1:1.5:3) in surface finish. 0 [10]
 Plnth Lavel - =

r 1
—
15cn('[_

G
ELEVATION

r>
— N

Verandah
W 1.50 m——"
e

>
PRS-

a ’ R‘ 0
. 3
—
L“’ Treads — 30 cm 1.50 m
Risers 15 cm,
PLAN >

Figure 2

The ground level along the ridge of proposed canal area as shown in fig. the bed of the canal
is 4m wide and sloped at 1:100 in longitudinal direction. The side slopes at 1.5:1. RL of
formation at 0 m chainage is 250 m. Determine the volume of the earth work is cutting by

trapezoidal and primisoidal methods. [10]
Dis inm | 252 252.15 251.7 251.75 251.95 251.85 252
chainage | 0m 30m 60m 90m 120m 150m 180m

OR



5. Estimate the quantity of earth work for an embankment, 120 m long, 8m wide at crest and
whose side slopes is 2 to 1. The central height from 0 to at every 30 m intervals are 0.60 m,
1.2 m, 1.6 m, 20 m and 1.3 m. Calculate the earth work using mid-section formula and

trapezoidal formula. [10]
6. Given the rate analysis for following, (a) 12 mm cement plastering in ceiling 1:3 with coarse
sand - unit 1 cu m. take 10cu m, (b) lime concrete in foundation. Assume necessary data.
[10]
OR

ivep the rate analysis for following
C brick work in foundation with 1:3 cement mortar- unit 1 cu m.

Pli m with M20 cement concrete take 10 Cum. Assume necessary data.[5+5]

8. Prepare afbar benging schedule of a R.C.C beam of 8 m clear span and 75cm x 40 cm in
section fligm iyen drawings. Estimate the total quanity of steel required. As shown in
figure 3. [10]

; ' 8m Clear Span 2mm Dia. Bars
i m Nos. 12mm Dia.
£ N§' iﬁ;r“nr?n%iaa -O;H?WP‘ |mmm0¢0;a cmc%c m Dia 35¢m c/c ¢ ?i{ff' 20mmDia Bent yp
i U Tl | ool s
; 35 20420 :
R S AMN cm | cm 3r|51 cmicrr 4 5 slal &
i \ N\ s D
_ 4 Nos. 20mnr ¥ dNos  22mm if s 4¥os. 20mm Dia Bars *2Nos. 20mm Dia /
";’:,ﬁ,‘,,"b;;’ g;’;' 70cm 90cm ' ear Span Bent up 30¢

CROSS SECTION L-secm@ ‘
Figure 3 Q
OR
9. List out types of contracts and explain any two wit es and disadvantages and

suitability. [10]
10.  Explain in detail the specification for building item of reinforcedé?@oncrete for a beam

and stone masonry.
OR

11.  What is meant by valuation? Explain the different types of valuation. (30:
--00000-- ’
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ESTIMATION, COSTING AND PROJECT MANAGEMENT

(Civil Engineering)

Time: 3 Hours Max.M
Answer any five questions

All questions carry equal marks

1. Wh%ou»yy estimate? Also explain the different methods of estimate in detail.

2. of Ear

Find the quanti
structure of single

sizeis 1.2m x 2.0m.

work, lime concrete in foundation and brick

30cm

oY

arks:75

[15]

work in super

ith verandah as per the plan and elevation given below.And door

[15]

2.5cm

k= 20em @'

g =

20cm

20cm

<

beam is as follows. Calculate quantity of steel in beam.

A simply supported beam of size 300mm x 450mm resting on two wall sugpor 300mm
thick with clear distance between supports 4500mm. The reinforcement p in the
[1

5]

Top bar

Bottom bar

Bent up bar

Stirrup

2MNos-10 @

3Nos-12 0

2Nos-16 @

80 @ls0c/c

Calculate the quantity of earthwork, for a bank of canal from following data:
a) Top width 1.8m  b) R.L. Top of the Bank: 104.00m, c¢) Side slope 2

:1 on one side

& 2.5:1 on other side. [15]
Chainage 30 60 90 120 150
Ground 101.50 101.30 101.150 101.00 99.00

Level




7.

8.a)
b)

What is Rate Analysis? Also explain its importance in construction work. Find the rate
analysis for 100 sg. m of plastering with mortar ratio of 1:6. [15]

Find the rate analysis of 10 m3of cement concrete work in foundation of 1:5:10 with brick
ballast of 40mm gauge. Assume the rates. [15]

What J¢ VValuation and Depreciation? Explain different methods of Depreciation. [15]

reithe glifferent stages of construction project planning.
Write a %ﬂ CPM and PERT. [8+7]
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JAWAHARLAL NEHRU TECHNOLOGICAL UNIVERSITY HYDERABAD
B. Tech IV Year | Semester Examinations, July/August - 2022
ESTIMATION, QUANTITY SURVEYING AND VALUATION
(Civil Engineering)

Time: 3 Hougs Max. Marks: 75
J Answer any five questions

1.a)

b)

@ All questions carry equal marks
Explain‘the rk in excavation in foundations of buildings by the application of long

e
wall — shortwall od.
Apply the midgSectional area method for calculating quantity of earthwork in road

estimating and e rocedure. [7+8]

Estimate the quantities of
size, wall thickness and o
a) Earthwork in excavation in f
b) Lime concrete in Foundation

c) 1st class brick work in cement 176 in{fotindation and plinth
d) 2.5cm CC dam proof courses. [15]

0. Ahe side slopes are 2.5:1. The depths
along the center line of road at 40.0m intervals{a ,1.1,1.4,1.2,0.9,1.5and 1.0.m. Itis
required to calculate the quantity of earthwork byz ri%ﬂe. [15]
Estimate the cost of earthwork for a portion of a road from'tH€ following data:

Road width at the formation surface is 8 meters. Side slo 1 in banking and 1%2:1 in
cutting. Length of chain is 30 meters.

Chainage 20 21 22 23 24 25 26 29 30
Egsglnd 71.20 | 71.25 | 70.90 | 71.25 | 70.80 | 70.45 | 70.20 | 70. 69.45 | 69.70
Formation 70.00 < Upward gradient of 1 in 200
Level
Take the rates of earthwork as Rs. 275/- per % cu.m in banking and Rs. 350/- cu.m in
cutting. [15]
5.a) Perform the Rate analysis for the Cement Concrete Floor 1:2:4.
b)  Explain briefly the various factors affecting the rate analysis. [7+8]
6.a) Analyze the rates of 1cumof RCC (1:2:4) slab reinforced with MS reinforcement up to
90kg/cum of CC including Centering and Shuttering laid in position, complete in all
respects. Assume suitable market rates.
b) Calculate the quantity of materials required for preparing 1m* of RCC works for 1:2:4

cement concrete. Also prepare the analysis of rates for materials only. (Assume suitable
data as required). [7+8]



7.a)

b)

Brief the application about any five types of contracts in construction industry with their

suitability.
Describe different types of penalties imposed on a contract and why such penalties are
imposed. [8+7]

rtion in 25m x 30m. The building is first class type and provided with water

8. A buitding is situated by the side of a main road of Mumbai city on a land of 600 sq.m. The
uil
MI

nitary and electric fittings, and the age of the building is 30 years. Workout the
the property. Assume plinth area rate is Rs.400.00 and cost of land as
Rs.700Q9¢r sq. [15]
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(Civil Engineering)
Hours Max. Marks: 75
Answer any five questions
All questions carry equal marks

Prepare the oximate cost of building project (group Houseing)
a) No.of hodses =
b) Plinth are welling = 600m?

¢) Plinth area ratey="Rs¥5,000/-per m?

d) Cost of water s nitary arrangements @12%%

e)Electrification at 7%2% ost of builing.

f) Cost of roads & Lawn 6’@

g) Cost of P.S.& contingenBiesf@4%. [15]

Repare the detailed estimate for@\wing items of work for the building shown in

figure. a) R.C.C. (1:1.5:3) in columns u round level only. b) R.C.C. (1:2:4) in plinth
Bleams. & [15]

200
" .
RCCRAR Y 3 4
RCC oEAMY 2 &
WTCHEN e B. a S b
280 « 4 A4 0m
30 » 200 o
— h.
24
ALl PIDIN = 20w
LR AR L L
w Ot* *Cl 0
.
o "m"‘?‘:'a
o ClC Jo g
B
Poy FCC Y 48
PLAN T o™ . ALL DIMENS



v

. Calculate the volume of earth work for part of a road from the following data: [15]
630 660 |690 |720 |750 |780 |810 840 | 870 |900
in mt
RL i 61.25 |60.90 | 61.25 | 60.80 | 60.45 | 60.20 | 60.35 |59.10 | 59.45 | 59.7

FL in mts < Upward gradient 1 in 200 —»

1 60.15 |60.30 | 60.45 | 60.60 | 60.75 | 60.90 | 61.05 |61.20 | 61.35 | 61.50

4. A RCC beam of ength, 0.35m breadth and 0.45m depth is reinforced with 2No.of

diameter 12 [@4N0. of diameter 20mm @ bottom, stirrups 2L diameter 8mm @

175mm c/c is provi giughout its length. Estimate the cost of RCC beam.

5. Calculate the quantity ials for the following items.
a) C.M. (1:4) for 1m® of w
b) CM (1:6) for 1m® of wo

6. Calculate the quantity of Cement ‘q&n bags for the following items of work.

[15]

[7+8]

a) C.C. (1:4:8) usy 40mm HBG metals f * of work
b) RR masanry in CM(1:5) very 0.34m r 1m® of masanry for 20m of work.[7+8]
7. Explain the terms a) Administrative App nical sanction ¢) Budget provision

d) Expenditure sanction.

replacement. The existing equipment can be sold at a p

[15]

Rs. 5 lakhs and if kept for

8. An equipment that was purchased at a cost of Rs 20 @years age is considered for
e
he*thal

another six years will have salvage value of Rs. 1 lakh. T

len s annual operating

cost of Rs. 50000/- and its salvage value is Rs. 5 lakhs at th of¥12 years. Rate of

interest is 10%. Decide whether to continue services of existing equip &r replace it.

---00000---
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Ti Hours Max. Marks: 75

1.a)
b)

2.3)
b)

‘,__
| ==

Answer Any Five Questions
& All Questions carry equal marks

Explain the igdportance of Estimation in Civil Engineering.
Explain thefprinciple of measurement and process of estimating quantity of Earthwork in

excavation. [9+6]
Discuss about dif ods of rough estimate.
Explain the principle surement and process of estimating quantity of Brick work in
super structure. [8+7]
Estimate the quantity of earthwork 4 vation for foundation, DPC and brickwork in
parapet wall for the building showf iNNgigtre 1. [15]
iy
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Figure.1



% For the building shown in figure 2. Estimate the quantity of brickwork in super structure.
repare bar bending schedule for the one way slab 3m x 6m shown in fig.2. [8+7]

<

8.a)
b)

12 mm dia altemate bent-up
6 mm dia @15cm ¢/c at top and bottom |

01
'

—i 12mmdia. @ 10cmc'c

'
’ i Alldimensions are in meters ' ’

o Scale: lem=033m  “4*~
-0 2»—& 30 102}
@ Figure. 2
Estimate the quantity of ea rk for formation of a road with the following data.
Formation width 10 m, side slopes )and Longitudinal gradient of road is 1 in 400
downward from 0 to 500 m. For I at O chainage is 39.5 m. [15]
Chainage (m) 0 100 200 300 00 500
GL 40 396 392 3 5 393
nal with the following data;
supply depth 1.5 m, top width of

Calculate the quantity of earth work of a p
Bed width 5 m, Free board 0.5 m, side slope 1:

both bunds 1.8 m.
Station 0 100 200 300 4 @ 600

Ground Level (m)  30.2 29.8 295 292 295 30.1

Bed Level (m) 29.0 &------- downward slope 1 in A [15]
Workout the unit rate for:

a) 12 mm thick Mosaic flooring over 100 mm thick cc (1:5:10)
b) 1% class brickwork with1:6 cement mortar in foundation and plinth [8+7]

Discuss the merits and demerits of item-rate Contract.
Write detailed Specifications for 1% class brickwork with 1:6 cement mortar im\Supe
structure. [8+

---00000---
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B. Tech IV Year | Semester Examinations, September - 2021
ESTIMATION, QUANTITY SURVEYING AND VALUATION
(Civil Engineering)

Time: 3 Hours Max. Marks: 75

Answer any Five Questions
All Questions Carry Equal Marks

1. Mention different types of estimates and explain them in detail. [15]
2.a)  Estimate the quantities of the following items using long wall & short wall method
i) Earthwork in Excavation in foundation
i) Lime Concrete in foundation
iii) 1St Class Brick work in cement mortar 1:6 in foundation & plinth.
iv) 2.5 cm c.c damp proof course
V) It class brickwork in lime mortar in super structure.
b)  Explain about Centre line Method. [7+8]
3. Calculate the quantity of each work for 200m length for a portion of a road in an uniform
ground the heights of bank at the two ends being 1.00m and 1.60m. The formation width is
1.0 m and side slopes 2:1 (H:V). Assume that there is no transverse slope. Use the following
methods and justify which method is good.
a) Prismoidal formula and
b) Mean - sectional area method. [7+8]
4. Reduced Level (R.L) of ground along the centre line of a proposed road from chainage 10 to
chainage 20 are given below. The formation level at the 10™ chainage is 107 and the road is
in downward gradient of 1 in 150 up to the chainage 14™ and then the gradient changes to 1
in 100 downward .Formation width of road is 10m and side slopes of banking are 2:1 (H:V).
Length of the chain is 30 m.
Draw longitudinal section of the road and a typical cross section and prepare an estimate of
earthwork at the rate of Rs. 275.00% cum
Find also the area of the side slopes and the cost of turfing the side slopes at the rate of
Rs.60.00% per Sgm. R.L of Formation 107.00.(Assume data if required). [15]
Chainage |, 11 12 13 14 15 16 17 18 19 20
gr'(l)‘uﬂz 105.00 | 105.60 | 105.44 | 105.90 | 105.42 | 104.30 | 105.00 | 104.10 | 104.62 | 104.00 | 103.30
Gradient Down gradient 1 in 150 Down gradient 1 in 100
5.a) Describe the procedure for the calculation of rate per unit Cum of RCC work in Beams and

b)

slabs (1:2:4) work excluding steel but including centering and shuttering.
Define Rate analysis and explain its purpose. [7+8]




6.a)

b)

7.2)

b)

Describe the procedure for the calculation of rate per unit Cum of RCC work for columns,
(1:2:4) work including steel and centering and shuttering.

Describe the procedure for the calculation of rate per cum of cement concrete 1:2:4 with
stone ballast 40 mm size. [7+8]

Write short notes on the following:

i) Informal Tender

i) Acceptance of tender

iii) Unbalanced Tender

List out various conditions of contract. [7+8]

Write specifications for the following

a) Removal of water from foundation.

b) White washing in three coats.

¢) Random rabble masonry. [5+5+5]
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ESTIMATION, QUANTITY SURVEYING AND VALUATION
(Civil Engineering)

Time: 3 Hours Max. Marks: 75

Answer any Five Questions
All Questions Carry Equal Marks

1. Mention different types of estimates and explain them in detail. [15]
2.a)  Estimate the quantities of the following items using long wall & short wall method
i) Earthwork in Excavation in foundation
i) Lime Concrete in foundation
iii) 1St Class Brick work in cement mortar 1:6 in foundation & plinth.
iv) 2.5 cm c.c damp proof course
V) It class brickwork in lime mortar in super structure.
b)  Explain about Centre line Method. [7+8]
3. Calculate the quantity of each work for 200m length for a portion of a road in an uniform
ground the heights of bank at the two ends being 1.00m and 1.60m. The formation width is
1.0 m and side slopes 2:1 (H:V). Assume that there is no transverse slope. Use the following
methods and justify which method is good.
a) Prismoidal formula and
b) Mean - sectional area method. [7+8]
4. Reduced Level (R.L) of ground along the centre line of a proposed road from chainage 10 to
chainage 20 are given below. The formation level at the 10™ chainage is 107 and the road is
in downward gradient of 1 in 150 up to the chainage 14™ and then the gradient changes to 1
in 100 downward .Formation width of road is 10m and side slopes of banking are 2:1 (H:V).
Length of the chain is 30 m.
Draw longitudinal section of the road and a typical cross section and prepare an estimate of
earthwork at the rate of Rs. 275.00% cum
Find also the area of the side slopes and the cost of turfing the side slopes at the rate of
Rs.60.00% per Sgm. R.L of Formation 107.00.(Assume data if required). [15]
Chainage |, 11 12 13 14 15 16 17 18 19 20
gr'(l)‘uﬂz 105.00 | 105.60 | 105.44 | 105.90 | 105.42 | 104.30 | 105.00 | 104.10 | 104.62 | 104.00 | 103.30
Gradient Down gradient 1 in 150 Down gradient 1 in 100
5.a) Describe the procedure for the calculation of rate per unit Cum of RCC work in Beams and

b)

slabs (1:2:4) work excluding steel but including centering and shuttering.
Define Rate analysis and explain its purpose. [7+8]




6.a)

b)

7.2)

b)

Describe the procedure for the calculation of rate per unit Cum of RCC work for columns,
(1:2:4) work including steel and centering and shuttering.

Describe the procedure for the calculation of rate per cum of cement concrete 1:2:4 with
stone ballast 40 mm size. [7+8]

Write short notes on the following:

i) Informal Tender

i) Acceptance of tender

iii) Unbalanced Tender

List out various conditions of contract. [7+8]

Write specifications for the following

a) Removal of water from foundation.

b) White washing in three coats.

¢) Random rabble masonry. [5+5+5]

--00000--
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16 — Civil Engineering; R15 - Civil Engineering; R13 - Civil Engineering;
RO09 - Civil Engineering)

Ti Max. Marks: 75
Answer any Five Questions

All Questions Carry Equal Marks

b) Earthwork in fillin

c) Brick flat soling.

d) Cement concrete i d

e) Masonry work in foundatio

f) Damp proof course.

g) Masonry work in superstructus€.

h) 10 cm thick brickwork. [15]

2.a)  Explain the earthwork in excavation i ions of buildings by
i) Long wall — Short wall method.
ii) Centre line method
b)  Enumerate the different methods of building estima explain them. [10+5]

3. Prepare a detailed estimate for earthwork for a portio r§ from the following data.
(s

Distance in m RL of ground 1
0 114.50 Upward gradient 1 in 2

100 114.75

200 115.25

300 115.2 Downward gradient 1 in 400
400 116.10 0
500 116.85

600 118.20

700 118.45

800 118.35

900 117.10

1000 117.80

1100 117.90

1200 117.50

Formation width of road is 8m, side slopes are 2:1 in banking and 1 1/2:1 in cutting.[15]



Prepare rate analysis for

i) RCC work in slabs 1:2:4.

ii) 1% class brick work in superstructure with 1:6 CM

Calculate the rate of 2.5 cm thick D.P.C with cement and sand in (1:2). [10+5]

in the method of valuation of a building along with an example by valuation based on

i different methods of depreciation. [5+5+5]

The fo
along the
IS required to c

idth of a road embankment is 10.0m. The side slopes are 2.5:1. The depths
i€ of road at 40.0 m intervals are 1.2, 1.1, 1.4, 1.2, 0.9, 1.5 and 1.0 m. It
late the quantity of earthwork by Prismoidal rule. [15]

Explain the Prismoidal formaéita and Mean - sectional area method
Derive the formulae h in the following situations:
1) Partly in cutting and partly ibanking (ii) when transverse slope existed. [8+7]

A building is situated by the sid
built-up portion in 25 m x 30 m?
supply, sanitary and electric fittings,
valuation of the property. Assume
Rs. 7000 per sq.m.

road of Mumbai city on a land of 600 sg.m. The
g is first class type and provided with water

@ ge of the building is 30 years. Workout the
plinthgarea rate is Rs. 400 and cost of land as

[15]

---00000---
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JAWAHARLAL NEHRU TECHNOLOGICAL UNIVERSITY HYDERABAD
B. Tech IV Year | Semester Examinations, October/November - 2020
ESTIMATION, QUANTITY SURVEYING AND VALUATION
(Civil Engineering)

ours Max. Marks: 75
Answer any Five Questions
All Questions Carry Equal Marks
Discus inefand long wall- short wall method of preparing detailed estimate.
Prepare a st for ¢ | items of estimate according to the progress of construction work.

[7+8]
its process calculation.

a) Earthwork excavation ndation trenches
b) Earthwork in filling
c) Cement or lime concrete in oun@ion

d) Damp proof course.

[15]
Explain the Mid Sectional Area meth z@n Sectional Area method for calculating

Explain the follo ge@'ems of work involved in the estimation for a building and

quantity of earth work in road estimation. [15]

The width of road embankment is 10m. The si lopes are 2:1. The depth along the

centre line road at 50m intervals are 1.25, 1.10, 1.8Q, 1. , 1.10, 1.15m. Calculate the
Quantity of earth work by

a) Mid sectional rule b) Trapezoidal rule c) oidal rule. [15]
Explain Analysis of Rates and factors affecting rate of an k. Give different
heads used in Analysis of Rates.

Describe the procedure for the calculation of rate per unit cum of ¢ crete 1:2:4
with stone ballast 40 mm. [7+8]

Prepare the lead statement for the following materials

SN Material Rate at \II‘H(I in Km Convevance &
0 o source | cr | sT | charges per Km

1 40mm HBG | Rs. 1200/ | g 9 Rs. 50 per cu.m
metal cu.m
River sand Rs. L300/ 6 8 12 Rs. 35 per cum
cu.m
Rs. 275/

51 - 8. ag
3 Cement bag 7 Rs. 5 per bag <

[t




What is depreciation? What are the methods of determining the depreciation?
uilding is situated by the side of a main road of Hyderabad city on a land of 600 sq.m.
he Quilt up portion is 22m x 17m. The building is first class type and provided with
, sanitary and electric fittings, and the age of the building is 30 years.
orkout th@yvaluation of the property. Assume plinth area rate as Rs.200.00 per sg.m. and
cost'ef land .6000 per sg.m. [7+8]

Q

~
2
25
%

O? a)  Explain the different types of contract systems adopted for construction industry.
) What is a contract document? Describe its important clauses. [7+8]
8

e



Code No: 137CN R16
JAWAHARLAL NEHRU TECHNOLOGICAL UNIVERSITY HYDERABAD
B.Tech IV Year | Semester Examinations, December - 2019
ESTIMATION, QUANTITY SURVEYING AND VALUATION
(Civil Engineering)
Max.Marks: 75

PART- A
(25 Marks)
l.a)  Explain about items @f werk®(i),Earthwork and (ii) Damp proof course. [2]
b)  What is an approxim i Write its limitations [3]
c) Explain about trapezoida [2]
d) Explain about partially c 3 artially filling and also their Area calculation in
earthwork estimation? Draw the [3]
e)  What do you mean by RMC and any cum it contains? [2]

f)  Describe the procedure for the calculatio te per unit cum of RR stone masonry in
foundation and plinth [3]
g) Draw the figure of cranked bar. [2]
h)  Define conditions of contract and mention thei ect and importance. [3]
i)  What are the main purposes of valuation? List out thg methods? [2]
J)  Write shorts notes on Book value and Monopoly value. [3]

PART-B
(50 Marks)
N\

2.a)  Estimate the quantities of the following items using any of the m
i) Earthwork in Excavation in foundation

i) Lime Concrete in foundation
iii) IStClass Brick work in cement mortar 1:6 in foundation & plinth.
iv) 2.5 cm c.c damp proof course 9

V) It lass brickwork in lime mortar in super structure. &



b)

3.2)

TWO ROOMED BUILDING

.

I 30 cm
"4

W
—

30 cm

vV
-]
Fa Fa
Room 4m =x 6m Room 4m x 6m -
=
|-
S 00fim = -+
» | = 600 m L
= ; D b
h e 30 cm h d

AN T
;?.5 cm LC. Ter @ 13 em R.C.C.

-

4.20m —»

30
'3'“/—2 cm D.P.C.

om

G L
«— 20 cm
peee——— 10 cm
G0cm 2 10 cm
T0em Mo 10 cm
I_I_I-:m=—2l] cm
—30 cm

N R
F—1.10m — Lime Conc.

Fig: Plan and fectional details of a two romed buildings.
What do you mean by detailed estimate and abstract estimate?
OR
Estimate the quantities of the following items using Centre line Method
i) Earthwork in Excavation in foundation
i) Lime Concrete in foundation

i) IStClass Brick work in cement mortar 1:6 in foundation & plinth.
iv) 2.5 cm c.c damp proof course

St

V) I>"class brickwork in lime mortar in super structure.

ﬁlls are same section

% Lin 0 lose windows and

‘ Shelves 15 cm thick R.B

-~ .(/ l ‘___;2.5 cm c.c. Over 7.5 cm L.C. \
40 “«— G0 cm 0

[10]



The formation width of a road embankment is 9.0m. The side slopes are 2.5:1. The depths
long the center line of road at 50.0m intervals are 1.2,1.1,1.4,1.2,0.9,1.5 and 1.0.m. It is
uired to calculate the quantity of earthwork by
a) gPrismoidal rule.
Trapgzoidal rule. [10]
OR
5. the cost of earthwork for a portion of a road from the following data: by using

L/ b)  Explain about long wall and short wall method. [10]
%

Chainage
Ground
Level
Upward
Gradient
The rates of earthwork as Rs. 2 er % in banking and Rs. 350 per % Cum in
cutting. [10]
6.a) Calculate rate per unit cum of RCC work in @(1:1:2) excluding steel but including
centering and shuttering
b)  What are the requirements of rate analysis? \ [10]
OR
7. Analyse the rates of white washing with lime on new werk an ite washing with lime on
old work to give and even shade. Assume the data requir [10]

given drawings. RCC work including shuttering and centering a orcement in
detail shall be taken separately. Also, prepare a schedule of bars.

Take cost of RCC work excluding steel and its bending but incl bging and
r i

shuttering and binding of steel = Rs.800/- per cu.m. and cost of steel eI)
[

N\ D
8. Prepare a detailed estimate of a RCC roof slab of 3m clear span and 8m long from the
stee

including its bending = Rs.700/- per quintal.
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9.a)
b)

10.a)

b)

11.3)

b)

Sm CearSpan AL Bars Bent o ‘m
‘M ':2?."“‘06."! ‘;. 18cem oo . SOcm 1 z
3m Cloar Span
CROSS SECTION
_____ e s e P R e e .
15cwm Bean x.
— ,
ik & i it 3 PE T e :
I - =1
. H s 3 4 ’
E L e i S S :
H I o=1| 15
i & 3 . < : 2
1 . _-_,-_ PO Rt _.‘-_:__ 8:
3 : i : A Bae o ; 85 ;
I i i) EE
-3 e P i i e i bl ol | :
o Dastr. Bars Smm Dia 18om oo ~> 12mm Oia 120m oo , Boot up
Im Cloar T Top Bars SHown
FART PLAN SMOMING ANRANG ?mt sans Dottec
OR
Draw the sketch of the steel bars and derive the additighal le in two cases - one bent
up of 45° cranked bar and one bent up of 30° cranked bat.
Write short note on (i) Contract (ii) Earnest Money Deposi \ [10]
A colonizer intends to purchase a land of 100,000 sg m area loc Jburb of a big

and parks and
ood is
maxdmum price

city to develop it into plots of 700 sq.m each after providing neces
other amenities. The current sale price of small plots in the
Rs.25.00 persg.m. The colonizer wants a net profit of 25%. Work out the
of the land at which the colonizer may purchase the land.

Explain any one method of valuation of buildings.

OR

Differentiate between the following Q
i) Drawings and specifications

il) Brief specifications and detailed specifications
List and explain standard specifications of a first class building. [10]
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